



## A Constrained Maximization: 10646

Hassan Ali Shah Ali; Patrick A. Staley

*The American Mathematical Monthly*, Vol. 106, No. 8. (Oct., 1999), pp. 780-781.

Stable URL:

<http://links.jstor.org/sici?sici=0002-9890%28199910%29106%3A8%3C780%3AACM1%3E2.0.CO%3B2-4>

*The American Mathematical Monthly* is currently published by Mathematical Association of America.

---

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <http://www.jstor.org/about/terms.html>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <http://www.jstor.org/journals/maa.html>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

---

The JSTOR Archive is a trusted digital repository providing for long-term preservation and access to leading academic journals and scholarly literature from around the world. The Archive is supported by libraries, scholarly societies, publishers, and foundations. It is an initiative of JSTOR, a not-for-profit organization with a mission to help the scholarly community take advantage of advances in technology. For more information regarding JSTOR, please contact [support@jstor.org](mailto:support@jstor.org).

It is convenient to note that  $A + B + C = H$  and is therefore real and to write  $K = ABC$ , so that  $AB + BC + CA = K\bar{H} = KH$ . With this notation, the equation becomes  $z = \bar{M}^2 K^2 \bar{A}^2 (\bar{z} + (A - C - B)\bar{B}\bar{C}) + (AB + AC - BC)\bar{A}$ , or

$$z = K(\bar{M}^2 K \bar{z} - 2)\bar{A}^2 - (\bar{M}^2 - 1)KH\bar{A} + 2\bar{M}^2 K.$$

Similarly, the equation of  $\beta'$  is

$$z = K(\bar{M}^2 K \bar{z} - 2)\bar{B}^2 - (\bar{M}^2 - 1)KH\bar{B} + 2\bar{M}^2 K.$$

Let  $z_C$  denote point of intersection, if any, of  $\alpha'$  and  $\beta'$  and similarly for  $z_A$  and  $z_B$ . Solving for  $z_C$  from these two equations, we get  $K(\bar{M}^2 K \bar{z}_C - 2)\bar{A}^2 - (\bar{M}^2 - 1)KH\bar{A} = K(\bar{M}^2 K \bar{z}_C - 2)\bar{B}^2 - (\bar{M}^2 - 1)KH\bar{B}$ , so  $K(\bar{A}^2 - \bar{B}^2)(\bar{M}^2 K \bar{z}_C - 2) = (\bar{A} - \bar{B})(\bar{M}^2 - 1)KH$ , and

$$(\bar{M}^2 K \bar{z}_C - 2)(\bar{A} + \bar{B}) = (\bar{M}^2 - 1)H.$$

Similarly,

$$(\bar{M}^2 K \bar{z}_B - 2)(\bar{A} + \bar{C}) = (\bar{M}^2 K \bar{z}_A - 2)(\bar{B} + \bar{C}) = (\bar{M}^2 - 1)H.$$

Suppose  $\alpha', \beta', \gamma'$  are concurrent at  $P$ . Then  $(\bar{A} + \bar{B})(\bar{M}^2 K \bar{P} - 2)$ ,  $(\bar{B} + \bar{C})(\bar{M}^2 K \bar{P} - 2)$ , and  $(\bar{C} + \bar{A})(\bar{M}^2 K \bar{P} - 2)$  all equal  $(\bar{M}^2 - 1)H$ . Multiply the first of these equations by  $\bar{B} + \bar{C}$ , multiply the second by  $\bar{A} + \bar{B}$ , and then subtract to obtain  $0 = (\bar{M}^2 - 1)H(\bar{A} - \bar{C})$ . Since  $A \neq C$  and  $H \neq 0$ , we have  $\bar{M}^2 = 1$  and  $\theta = 0$ . So  $\alpha, \beta, \gamma$  are parallel to the Euler line as claimed. Conversely, if  $\alpha, \beta, \gamma$  are parallel to the Euler line, then  $\bar{M}^2 = 1$ , and  $z_A = z_B = z_C = P = 2K$  satisfy the equations for  $\alpha', \beta', \gamma'$ , so these are concurrent.

If  $H = 0$ , there is no Euler line. In this case,  $\alpha', \beta'$ , and  $\gamma'$  concur at  $P = 2K\bar{M}^2$ .

(b) Since  $P = 2K = 2ABC$ , we have  $|P| = 2$ . Therefore  $|(O + P)/2| = 1$  and  $(O + P)/2$  is on  $\Gamma$ .

Solved also by J. Anglesio (France), M. Benedicty, N. Lakshmanan, and V. Schindler (Germany).

### A Constrained Maximization

**10646** [1998, 176]. *Proposed by Hassan Ali Shah Ali, Teheran, Iran.* Find the maximum of  $\prod_{i=1}^n (1 - x_i)$  over all nonnegative  $x_1, x_2, \dots, x_n$  with  $\sum_{i=1}^n x_i^2 = 1$ .

*Solution by Patrick A. Staley, Southwestern College, Chula Vista, CA.* When  $n = 1$ , the constraint requires  $x_1 = 1$ , and the maximum value is 0. So assume  $n \geq 2$ . We show that the maximum is  $3/2 - \sqrt{2} \approx 0.0858$ , and it occurs when two of the  $x_i$ 's are  $1/\sqrt{2}$  and the others are 0.

Let  $x_1, x_2, \dots, x_n$  be an optimal solution. If  $x$  and  $y$  are any two of the  $x_i$ 's, then they satisfy a two-element subproblem: maximize  $(1 - x)(1 - y)$  under the constraints  $x \geq 0$ ,  $y \geq 0$ , and  $x^2 + y^2 = k^2$  for a given positive  $k \leq 1$ . To solve this, note that  $dy/dx = -x/y$ , so

$$\frac{d((1 - x)(1 - y))}{dx} = -(1 - y) - (1 - x)\frac{dy}{dx} = \frac{(x - y)(1 - x - y)}{y}.$$

If this vanishes, then  $(x + y - 1)(x - y) = 0$ . There are three possibilities for the global maximum of  $(1 - x)(1 - y)$ :

(1) endpoints,  $x = 0, y = k$  (or vice versa), so  $(1 - x)(1 - y) = (1 - k)$ ;

(2)  $y = x$ , so  $x = y = k/\sqrt{2}$ ,  $(1 - x)(1 - y) = (1 - k/\sqrt{2})^2$ ; or

(3)  $y = 1 - x$ , so  $x, y = (1 \pm \sqrt{2k^2 - 1})/2$  and  $(1 - x)(1 - y) = (1 - k^2)/2$ .

Case (3) may be discarded, since  $(1 - k^2)/2 \leq (1 - k)$  for all  $k$ . If  $k < 2(\sqrt{2} - 1) \approx 0.828$  then case (1) is maximal; otherwise, case (2) is maximal.

Now consider a three-element subproblem. Let  $x, y, z$  be any three of the  $x_i$ 's. They maximize  $(1-x)(1-y)(1-z)$  subject to  $x \geq 0, y \geq 0, z \geq 0$ , and  $x^2 + y^2 + z^2 = h^2$  for a given positive  $h \leq 1$ . Now the largest element must be at least  $h/\sqrt{3}$ , so the other two elements solve the two-element subproblem with  $k \leq \sqrt{2/3}h < 0.828$ , so for that subproblem case (1) is maximal, and thus one of the variables must be 0.

Since one of every three variables must be 0, there can be at most two nonzero variables. Those two solve the two-element problem with  $k = 1$ , so the maximum occurs in case (2) and the maximum is  $(1 - 1/\sqrt{2})^2 = 3/2 - \sqrt{2}$ .

*Editorial comment.* There were a large number of incorrect solutions. Many of these used Lagrange multipliers to find a local maximum for the function in question, but ignored the possibility of a global maximum occurring at a boundary point, as it does when  $n \geq 3$ .

Solved also by R. A. Agnew, Z. Ahmed & A. N. Joseph & M. A. Prasad (India), R. Barbara, M. Benedicty, B. Borchers, P. Budney, R. J. Chapman (U. K.), C. Georghiou (Greece), G. Keselman, A. Kundgen, J. H. Lindsey II, S. Pedersen (Denmark), C. Popescu (Belgium), A. Rosenthal, W. J. Seaman, H. A. Steinberg, A. Stenger, J. Vandergriff, J. T. Ward, Q. Yao, GCHQ Problems Group, IUTS Problems Group, NSA Problems Group, and the proposer.

### A Pólya-Szegő Exercise Revisited

**10650** [1998, 271]. *Proposed by Zoltán Sasvári, Technical University of Dresden, Dresden, Germany.* For  $n \geq 2$ , let

$$a_n = \frac{(n^2 + 1)(n^2 + 2) \cdots (n^2 + n)}{(n^2 - 1)(n^2 - 2) \cdots (n^2 - n)}.$$

Then  $\lim_{n \rightarrow \infty} a_n = e$ , by exercise 55 in G. Pólya and G. Szegő, *Problems and Theorems in Analysis*, Springer-Verlag, 1972. Show that  $\lim_{n \rightarrow \infty} n(a_n - e) = e$ .

*Solution by William F. Trench, Trinity University, San Antonio, TX.* By Taylor's Theorem applied to  $f(x) = \log((1+x)/(1-x))$ ,

$$|f(x) - 2x| \leq \frac{2x^3}{(1-x^2)^2} \quad \text{for } 0 < x < 1.$$

Since  $\log a_n = \sum_{j=1}^n f(j/n^2)$ , we have

$$\left| \log a_n - 1 - \frac{1}{n} \right| \leq \sum_{j=1}^n \left| f\left(\frac{j}{n^2}\right) - \frac{2j}{n^2} \right| \leq \frac{2}{n^6(1-1/n)^2} \sum_{j=1}^n j^3 = O\left(\frac{1}{n^2}\right)$$

as  $n \rightarrow \infty$ . Therefore

$$a_n = e \exp\left(\frac{1}{n} + O\left(\frac{1}{n^2}\right)\right) = e \left(1 + \frac{1}{n} + O\left(\frac{1}{n^2}\right)\right),$$

which implies that  $n(a_n - e) = e + O(1/n)$ .

*Editorial comment.* Several solvers obtained additional terms in the asymptotic expansion of  $\log a_n$  and thus of  $a_n$ . Douglas B. Tyler computed the former completely in terms of the Bernoulli numbers  $B_0, B_1, B_2, \dots$  as follows:

$$\log a_n = 1 + \frac{1}{2} \log \frac{n+1}{n-1} + \sum_{i=1}^{N-1} \frac{1}{n^{2i}} \left( \sum_{j=\lfloor \frac{i+1}{2} \rfloor}^i \frac{B_{2i-2j}}{(2j+1)(j+1)} \binom{2j+2}{2i-2j} \right) + O\left(\frac{1}{n^{2N}}\right).$$

In a different direction, William A. Newcomb proved that the original conclusion holds for

$$a_n = \prod_{k=1}^n \frac{n + f(k/n)}{n - f(k/n)},$$